107°

= E* =
E: D
® E: =
= [: S
S L.
S g
o L
o
10°E:
107k
o107y : ° :
T : S :
o H 24 . .
0.5 - - .
0 . i 0 . . . . i
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCAto beamline) TP n (PCA to beamline)
= BT SRR NERRERT pecetessy 2 v
—— DQM™m FIt:X:MInusPU:NEW e¥au t_sEecPLesss 2- OWEI
—— DOM—mkFit—XiMinusPU_NEWdertault_specPLess4-2-lowpt
=107° =10~
= 1] F
5] (5]
2 2
-~ —~
< -
>
o
o =2
5 ©

9 0 T 2 3

TP n (PCA to beamline)
_T-lo 5 =
= F:
a2 [
3 L.
o} L
10°E

107”7

23T 0 T2 73
TP n (PCA to beamline)

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


